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1 100kN/m#%#BZ % - -~ -|13mEEZD -~ - -] 100kN/m#%#B %% - -~ -|3mEFEZD ~ -
znLs 1.00 | 0.00 ~ 251 33.20 | =hUS | 000 ~ 251|247 12.51 znLs 1.00 | 5.00 ~ 56.20 33.20 | NS | 65,00 ~ 520|247 12.51
2 100kN/m#%#BZ % -~ -|13mEEZD ~ -] 100kN/m#%#B %% ~ -|3mEEZD ~
FnLs 1.00 |1 0.00 ~ 6.42 80.82 | =hst | 0oo ~ 000|174 879 ZnLs 1.00 | 5.00 ~ 7.57 80.82 | #nLS | 5,00 ~ 7.57|1.74 8.79
3 100kN/m#%#BZ % ~ -|13mEEZ S ~ -] 100kN/m#%#8 %% ~ -|3mEEZD ~
LS ~ Zh Lot ~ ZhES ~ Zhn s ~
P 100kN/m#%#BZ % ~ -|13mEEZ D ~ -] 100kN/m#%E#B %% ~ -|3mEEZD ~
s ~ Zh Lot ~ TS ~ Zhn s ~
5 100kN/m#%#BZ % ~ -|13mEEZ S ~ -] 100kN/m#%E#B %% ~ -|3mEEZD ~
s ~ Zh Lot ~ ZhES ~ Zhn s ~
6 100kN/m#%#BZ % ~ -|13mEEZ S ~ -] 100kN/m#%#8 %% ~ -|3mEEZD ~
s ~ Zh Lot ~ ZhES ~ Zh s ~
. 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEBZ B ~
Zh s ~ Zh LS ~ Zh LS ~ Zh s ~
g 100kN/m%Z#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEBZ B ~
Zh s ~ Zh Lo ~ Zh LS ~ Zh s ~
g 100kN/m%Z#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEBZ B ~
Zh s ~ Zh Lo ~ Zh LS ~ Zh s ~
10 100kN/m%#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEBZ B ~
Zh s ~ Zh Lo ~ Zh LS ~ Zh s ~
17 100kN/mM%Z#E% % ~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEEBZ D ~
znLs 1.00 |1 0.00 ~ 688 87.04 | #hst | 000 ~ 000 1.63 8.26 znLs 1.00 | 5.00 ~ 886 87.04 | =N | 5,00 ~ 886 1.63 8.26
12 100kN/mM%Z#E% % -~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEEBZ D ~
znLs 1.00 | 0.00 ~ 6.31 79.25 | #nLS | 000 ~ 631 1.89 9.65 znLs 1.00 | 5.00 ~ 7.70 79.25 | EnRUS | 600 ~ 7.70 | 1.89 9.65
19 100kN/mM%Z#E% % -~ -|3mEEZD ~ -| 100kN/M%Z#BZ % ~ -|3mEEBZ D ~
znLs 1.00 | 0.00 ~ 5.02 62.55 | =nLst | 000 ~ 502 1.83 927 znLs 1.00 | 5.00 ~ 6,46 62.556 | NS | 6,00 ~ 5.46 | 1.83 927
100kN/mM%#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh s ~ Zh LS ~ TS ~ Zh s ~
100kN/mM%#E% % ~ ImEHBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
ZNLS ~ ThLlst ~ LS ~ Zhn st ~
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